Solution to ECE Test #5 S08 #1

Match the discrete-time signals and the magnitudes of their DFT’ s by writing in the |etter of
the DFT magnitude graph corresponding to each discrete-time signal graph in the space
provided above the graph.
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Solution to ECE Test #5 S08 #2

Match the discrete-time signal's and the magnitudes of their DFT’ s by writing in the letter of
the DFT magnitude graph corresponding to each discrete-time signal graph in the space
provided above the graph.
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Solution to ECE Test #5 S08 #3

Match the discrete-time signal's and the magnitudes of their DFT’ s by writing in the letter of
the DFT magnitude graph corresponding to each discrete-time signal graph in the space
provided above the graph.
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